Py ¥

Multiply by powers of ten (missing number)

Name:

9.849 x

2.524 x

6.106 x

1.974 x

1.868 x

3.811 x

7.604 x

1.296 x

2.641 x

7.61 x

= 9849

= 2524

= 61.06

=19.74

= 186.8

=38.11

= 7604

= 1296

= 2641

=7610

1.466 x

8.841 x

8.359 x

8.186 x

6.634 x

9.599 x

6.244 x

5.71 x

Date:

7.626 x

7.979 x
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= 14.66

= 88.41

= 8359

= 818.6

= 063.4

=959.9

= 62.44

=57.1

=76.26

=79.79

Score:
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Py Y

Multiply by powers of ten (missing number)

Name:

9.849 < 1000 = 9849

2.524 x 1000 = 2524

6.106 x 10 = 61.06

1.974 x 10 = 19.74

1.868 x 100 = 186.8

3.811 x 10 = 38.11

7.604 x 1000 = 7604

1.296 x 1000 = 1296

2.641 x 1000 = 2641

7.61 x 1000 = 7610

Date:

1.466 x 10 = 14.66

8.841 x 10 = 88.41

8.359 x 100 = 835.9

8.186 x 100 = 818.6

6.634 x 100 = 663.4

9.599 x 100 = 959.9

6.244 x 10 = 62.44

571 x10=157.1

7.626 x 10 = 76.26

7.979 x 10 =79.79
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